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1.Can Japanese learners of English correctly interpret anaphoric expressions in
infinitival clauses?

      University students had difficulty in identifying the antecedents of 
     reflexives and pronouns.

2. Why difficult?
   a) knowledge of PRO as well as Binding Principles is required
            b) transfer of subject orientation for reflexives

3. Developmental difference between reflexives and pronouns?
   No (at least tentatively)

4. Effects of main verb types?
   No difference between want-type and tell-type

5. What kind of errors?
   all errors are compatible with the grammar of natural language
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subjects: 27
ITP TOEFL 500Ⅴ

(test sentences) 8
Daisuke wants Keita to wash him.  ボ want-type)

    Akio tells Hirosuke to love him.    ボ tell-type)
    Akira gares Hiroshi to hurt him.     ボ nonsense)

Junko wants Erika to love herself.  ボ want-type)
    Tadashi tells Masao to hurt himself.   ボ tell-type)
    Masamitsu gares Toru to wash himself. ボ nonsense)

ボ (main verbs) ボ ボ
want-type: want wish, prefer, expect  (verbs in an infinitival clause)

    tell-type: tell, advise, ask, encourage  wash, cut, like, see, touch, criticize
    nonsense: gare, suboot, prish, meap   protect, believe, hurt, hate, hit, love

 (Example): 4

: 
Daisuke wants Keita to wash him.

(a) (b) 
    (c) (d) 

Overall Results: proportionsOverall Results: proportions

ヂ: correct
      opposite
      both allowed セ よ
      neither allowed よ

よ
     (L2 learners selected ‘correct’ more often than any other choices.)
よ ↓ (p < 0.01)

     (Their choice of ‘correct’ was relatively low but it was not at a chance level. p< 0.01)

  ゝゝ   Statistical Results  Statistical Results
(pronoun/reflexive) ボ

(want/tell/nonsense) two-way repeated-measures
ANOVA, p-level = 0.05) ッ

Correct response: ボ (F(2,26) = 3.738, p < 0.05)
    nonsense  verb See Fig. 1

Opposite response: ボ F(2,26) = 6.036, p <  0.01)
nonsense verb See Fig. 1
Both : 
Neither : F(1,26) = 5.571, p < 0.05)

    ボ ボ See Fig. 2

  Fig. 1 ボ correct/opposite   Fig. 2 neither

 Analyses of Individual Data Analyses of Individual Data
nonsense ボ 8 6 (75%)

ぞ
27 19 (70%) ぞ
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 correct opposite both allowed neither allowed 

Pronoun 58.8% 26.9% 8.8% 5.6% 

Reflexive 56.0% 30.6% 12.5% 0.9% 

 

 want-type (subject/object control) tell-type (object control) 
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Principle A 
(local binding) 

John wants Tom [PRO to shave himself]. 

John wants [PRO to shave himself].  

John tells Tom [PRO to shave himself]. 

*John tells [PRO to shave himself] .  

#$!  

Principle B 

(no local binding% 

John wants Tom [PRO to shave him]. 

John wants [PRO to shave him].  

John tells Tom [PRO to shave him]. 

*John tells [PRO to shave him] .  

 

 Reflexive local Reflexive no rule  Reflexive long-distanc e  

Pronoun 

long-distanc e  

5!  "!  #!  

Pronoun 

no rule  

6!  $%&'(  2!  

Pronoun  

local 
#!  #!  #!  

 


